A H ZRTAE B %%%?}#&10453&3’3 2?#7 FA[E & |wow

Wl 2 WP P A ¥
L pl-lzlz|=|z > fzﬁ»}%(.ﬁmﬁ@‘M%ﬁF) g B A& 7Y R W ¥ oz it B8 F R
© 1 R i O105% R M~ ks 2y %4 IEE I
71819(10/11 12 ]_3 29 A BE(204 ¢ 3kt 5T 12 p 32 (20 4+ 3t 3T)
GrEEaP P @7 ¢ xﬁ#«éfng Ol FH105E 2 [ i iyt (@ 5Y ;ﬁé‘ﬁ%ﬁﬂfé@;ﬂ” € % 3
(08 Oo)éﬁrswmﬂm .% SRR S| @ iakT T A ERFRE LD L OIS BT AR E 15P B & i T g FH 3t %519:408 5% F 3~
- 150 (T:30)4~ 75 £ R Ty & 3R(FR) > (11:00)42 0F 4 K2 R RITE PR
¥1 FEAEELIAT | RGP o (16: 105 %5 22) (12:30) R R &% A A RP & 18-19p 3
0 % | X ; 6) 1785 ¢- rmmw Fad R R R (12:10)4 1 1 #(172) 19p 5L ¢ (¥ NPESE S A F:
- R i ¥ THEe i : ¢ e FL% 1%t
7 : wgc 18P (12:30)#pi-F1s ik 2+ ¢ (BU) 200 FLE A
:00-12:00) 197 (12:30) 84~ R it 4+ ¢ FLp it | & (R 23
_& ‘f,' 4) ~(14: Zo)ffi’?(i -0 uﬁ'ﬁ‘}ufl’ﬂ,ll‘(/ﬁ T
209(14 20)F EHTEHIFFT /;‘—)4%:7?;4
- ey 04+ gﬁww i1 R (72
- SAEEWERT (I FI) z4wgfmﬂ« BT EEE TR ®1z & 0% — Lo Rl 5 Rl(1 TERT X
22p rm E'Mr(ﬂﬁ) %%%ﬁ;}d:}%a 260 (12: 35)@@@*@*;16 HR(R2) ~s1g-(ORp L P EERFER 2R @0 F Y ;;Lx =Y 25P = HB RPN LIEER (73)
1 ey ¢ (M6) I PN SR N R 3 240 (13:10) 2 B3 ¢ i r 83 WA (260 #HIKFER L 16:308F Ty g4
- ¥ 2%l g 11l ERE | A EFIvHEE iR g g (1) 250 (T:30) R /35 (1) 54t 14t - FE R EE-RREFER
= 2 ¢ (73) R B (Lrii s ss [200 (15108 = LA B (RO -
245 +8=rﬂrp“%€-p%z.’f?v%ﬁ )
2P KEEAAHIP L TR P 260 TRl TE106- 148 AL B 4
1iFg®k (i93)
280 fv = & £ p 20T B O ljERKs TBF Re O RI05ERI F if K7F |OF - Btk % i(2) E ¥ BT
03-05p & £ piphd 424 5- prEEa |0lp Sair ¥p b iv g O B3 A ¥ HE gk pmyt 297 it (228
Alo FAIFLES LA L (FD) 020 37 ¢ IR G A 01p (16:20)% % 1 v ¢4 (~#3) [03p (7:30) ‘w(z)mwtlsﬁm 0lp %4tz %p
= 112(3(4](5 04p (12:30) 2 5 15 o ff ~ (14:20) 220 % 04p (13:10)% :;/&#ﬁﬁ%ﬁa 95 (M [03p % sa R TR 1A d
— 128129 2 ECGHSUT00)FRFEEHF 2 7& 6) <& ] ®m4a (1 04P 3 FFIHEF T & BB HRE L g
Eiéﬁ%ﬁ) (15:20)%&%%1%;&@ SH (W4 | FLooRmsd S EPE KR (73) 2§
05p #7475 B¢ 54 ‘f;&:};t%‘ei?’r?}:‘%fﬂ TP piE gk (W5) 31§
£ (W6~ &9 ¥ 3er)
07Tp 8¢ £ 8B4t 3% 06p g8~ F G- ) Cf ) ogw F100ARE [ T E (@8 - Mo %5 iR (3) BFRRT &
07-10p & £# 45 ¢ 22 2 5 F 4 (B |09p § ¢ -1 B Condez ¥ EEX O u| T gy YA R B A 07T 224 F B3 FF1525@ 4 L~ p i
L 2 2) 11p ﬂﬁ—% B /Flz?m/rﬁv(,%) CH2zAr (0T ASHY BEFLR L F IR S g 09-15p = 35 & e pedp &
=(6|7(8]9]10 12/09-150 = 3% 5 isdp & LI A 1hd S 108 (T:30) B 1 53 (3) 44 1 4 3 Npkg-P kT s BLA ¢ (73)
11| 1lp s B4 B €(3) 11 (13:10)0% = 2 B4 4 53(3) (H4)
12-14p #5749 105% & R BMEu % 23 &
LEX Ry (R4 - M6)
5p° B2 ekl 2 o @G Fi b |16F 3 = L5 4 gqr O R I0AERRA R TE |8 — 12w Rl% %Rl (4) BT
(R34 189 (14:20-16: 10)4 5 = % 407380 ~ | 3 4 ¢ 34 - H 3 4 ¥ g T
15-16P & = & = = 5 ¥ SRETEEFL A E O jad ik sk 179 (7:30) B
_ x| % TP L EHPFIRIFFL0 505 16-18p § ¥ 1 8% 22 e & (8:30)37# 7 ¥ i &
= |7 |13|14 17|18(19| * (53 @:10) oo e e
15(16 189 #2 $- it EpL 18200 720 105 & B E 2
] AL EARERREYAY (F4-6)
18p (13:10)% = 2 EH E1 3% (73)~
(14:20) % & | B4 (1)
24-251 %3 FER RN Ty s eI A owg Fiehe ¥ O RI0AERA [ R T A [@F - Hw pl%5p(5) FHRB)RT &
(#12) 250 BR-HUTERTHEP N2t | HiEAY (S L ERE A i 230 FHITEA B LN AP
i BB FFGE) @ iR 2 Tt 2P ILE ~ FRITER B AT
23p (12:30) 34 $cp7 5 ¥
;ga g33(1)())§%?°?i (5);%#;5%)\
. 2 B2 AR E T (153)
#|20|21(22|23|24|25|26 (13:10)%% o %ﬁér‘ 2 %3 (F4)
(14:20)+ &1 BIE (2) - § MREALE 6
Y tar YRR Il S S
8 (F4:6)
218 BRI RE B R
(16 - B4)
30p - E?/F‘ S%EFALHE O KT I ERE ! ON L F B EAR ek (@7 - e R%5R(6) EfeRT
i o0 3lp v Fd gk ke BfpR L (BE |00 9 ¢-RAX 2RT2 202 § 0-03p 2y 1 4% 22 thd (@ FR Y gdag FEuityy 0P w - » BiRlskFEF AR
= 127]2829|30 2| &) 01p %4aiez %p - (13:10) & it g T & 51 GE3®) oLy ’*%s’é’ﬁ%iﬁ#%@ 3lp ¢ 3 sk e RRE S
311 31-01p 5- %&Y L FGE) ~ (14:20) % 1% £ 67 ¢ 3 (W 19 (13:10)37 » 45fe® ® %3+ (H4) 01p %4075 P ~50g ~ & (%7 EFL% &
01p W% >3 BREP § (L) 2 (Z E)AHFE L BNy § %
[N 063 ¢ JRkIRE ~#l-§° 3 7 & 05-10p &fe2 kﬁﬁﬂ;‘mﬁi 05 — [ il R (1) EEN-JE
Alo . 04-05p 523 & % P $4f i 08P %3=tALM ~ 2 $3540fp ~ %5 | Hx 2 FHFE (R SO A B S 4 04-05p S2d & i~ p &4 B(3 1Lt )
~l3 617 UL SRR A FALE S o I S A F A 06-10F 2R ITHFAF FF & (@~ %1 phiun LA % 067 10:00 35 & 4 &b 434
415 8 LR g 07(7 30);2F"m 6) '%4"1#%\ 08p WP 2% vF1g ~F=iTERE
08-12p = H % 2 FH ¥ Y 3TRIBES 08-127 = 39 5 F 4 4 32
08p (13:10)% = 2 B F m (®16) 09p &% 3+
TN 137 47 § k&% }_(rma)Liﬁr [EEE R O — 1t %5 R (8) LE 2 xi¥
N * 11-120 % = % 7 =< i8S 14 5  A bredrdh 10H7i¢p'f+_%i_{ﬁk§§7fi/? R X 5 SN g 112 % = % 1 kY
1 |10 KX 13|14 16 150 B A=A~ o= B IEp FREF 22 (129 (16:200% ¥ 1 7 £ 4 (173) 139(13 10)@"1’ EifR Y F4 2R (157 rrﬁ B B W E S GRERE (S
.9 11{12 15 #* 145 (T:30) B &2 (7) ~ :'Jiﬁtlilp“é% 23 £ T 13 DREE TN P R
150 2 & 37 RI% < (13:10)8 = 4 88 4
3 i (B4)
[ EEEETY i) ¢ - HlFiF T 22240 FAAE 2 RBREF N % |OF — Lo %5 Rl (9) KEI% 23¥
O] 20P ® T B g 22 g 220 Bk-F ehE $oFE P AR FGR| A REAEE - BB 4 ¥ Hrk 5 19-20p #9 ¢ %
1 117(18]19|20|21|,,[23[22p (14:100% - & = # = s #) 217 (T:30 R 5 5 207 m 4% b ik 2 2 g5
22 23p B EFPH 422 LRI 23-28p 2R Y £ EfES ¢ 22p (15:20)% = 220 16:308 ¢ #55 § % (i73)~ iﬁ R IE 42
. g g;*,. SEE R gg kgﬁﬁv 33 _L m
N L EBEMN L LM & 2TR 3F € S f 3t 7 SFBE I § (2) SE R ALY ke FERD T B
4 [] 20p B H - KB LT E R 5 (6-TH)|28p e—sf?ﬁ%% wfﬂfgﬂlofzéﬁflri‘ﬁﬂmzwﬂ 30)%%*- 2 EREST AL
24125|26|27(28 30| #- %= W foEE 29P T g -F A HOE S L1055 RS pAELIE 1 28p 3 = F EIE
- 29 30-01p = = & s- » Fiplg 2 IE R :
02p G Ta) R BRI 2TV~ L K|OBER BT X O R aB S E R 45 |02-060 3 = 2 HER
4 g gEd L 01p %4u7cg % % B E A .
1(2(3]4]|5|6|7 |00 AEREF G aEERAE MDD fOIRE Oi-IFZAYH Y FHP LA (050 (TB)ER & )
- 06F 3B R 1 17 i Wiy 065 (13:20)4F (A - ) 1 06p = & - @4 ;
- FIERT I B ZsURR G - R REI% | 0F = BURN HE (1) FABEE Uk
AHT T E 04-06 § > M & F ik F PR R
AR BTG e |I0F R PAERT LT B & & oG n BN FH 4 0% - o Rl iEE () EATER S =
4 ololo 1139 5 cREFER =t ks 139 (35)« 7% ~ 13:10% 2= %55 ¢ R B ® G R T i ff%\%l‘ﬁﬁ"ﬁsz 09-13p w 3% A~ BT 3 & 7 &
_18(9]10 14(13p == h3R(R® § 4% 5 & B3 ZHEEE AL S - E Ty vl 09-10F % = & sisde s 05 ~ F =2 [10-12p A= Bk F (17p #8222 %)
= 111213 ) & LSRN =Tk 13p A #7468 (R B3
- 14-150 B %7 &4 14-150 ®¥ %7+ &4
x O v tEN G 8p3 - [#=% 2(FiH)z & DU EN I T EF- T EETEY
5 (LR 15-20p p & B2 57 * 7 w»%aew; : 169 16:30% = (73 =F ¢ A TR = ¥ v Hom
-+ L 4 160 R~ #4224 73 209 ﬁm b HhEALE FALE I k-0 = Jiirp‘ai ENAE)) T B4 8 % [EP-1TP § 3 (173)
15|16]17|18(19 21[18-26p = HELE » F P fcit - [FE|  F gy 209 £ a‘*mdw\ HAEF B AEA 1 g [18-26P w ELE » £ - FERON e
»® 20 209 5% %= «ﬁxvn;k:‘:ﬁﬁ 21p RE RSE fﬁ Bl HrTge s i P g (F4) 19p 22 3= 5 1=4t% 28 - paz
200 A MG E ~ FRe Fibd 2P B A AR B AR 20P i € —if % RV
21 P #ceB % 4~ F (H6) ~ 10 FH5¢
®OF -t & EEEEY &8 FICED) e PETE G
250 i?é—iié%iﬁ_;i%i BOE EE R (4 k] 230 FURAT B w HLIRIE S S E
P S BEpuIERT g 95‘;);'"&?16&%#35(3) P 23- 269%#:,?15&%\ 550 LB SR ¢
il msm 1050 % et 4 7:30) B 3 LIPSO PP L pAT
270 (14:20) % £ - rmﬁ 4) B0 223 .,/rﬂ’“igﬂiﬁéé:?‘h
27p Yk £gea FARCE
LN _ OIERKFASAF EFFY EXEEE I
%D 0lp 3 ¢-FH T pale - Shrz ¢y 03 — i IR IE(D) 1P w HEUE » - BRSO 2
0 © |®k* A3 B 2 3 P~ (10:00)2 %020 % 2 4 T5w (GF) | @Fki 2 inlsh 2 i s @ 31-04p w 4 BELF FRIF &
29130(31] 11213 BIP = 4£LE » B - P E e 22 1027 (09:10) 2 £ 48 8 = 3w () O FH LTy & :30 %7 (D~ dmRa g (0lp Ssacep ~ EEL BT R(LEL)
= 4 [31-04p = prprpund % - iR £ 030 (13:10)2 X8 B ¢ (GF) O A R E (1) 03P (14:20)= £ -] m48 (6) 027 Z £ 3075w « v HEGE » £ - BrERP
o 02p = HELE » F 5 - PR RPN it 04p (30) & Fa A~ (13:10) F - K& FE 03-05p #74 # 105# )iﬁfﬂrwli‘»&ﬁ S FZRRIEA DB F R Y
04p 4 7 ¥ 3 51 BAE 0 FG 14:20)% - #4T % % LEARAREYEY (F4-6) |03pFig-F 3 EHIRE we & i idh
; : s 047 (14:20) 5 B 1B % 8- 04p B %448 “At (¢ rrd g
0L EHPFI 21 2L P LU 087 GER FE AR (OIFER T PR RRF CRA |83 - ek iEE(5) HEELE
mmzé»én;rm;‘é LH 22 7 OSDa‘r*”lOB&fi’f‘iﬁﬁﬂliﬁé’% Bavic v BEUE A F - I LE 22
L A|O 06p ARFREL  Fodpm rH gz 1 a@tmeuwwgwwﬂn 66 (M4-6) 08P % - - b
.|5]16]7]8 11| #simwsr wﬁiffz%;ﬁ%(%ﬁ) @ i3 wai» 5) 06-087 # = fcki s 32 09-10p =4 & i ~ P E(F 5L %)
= 9 (10 06-08p 3 i § & H IEPéa(IﬂZ) 06-10F 9 ¥ 1 8% 22 e &
08p A%~ #riﬁ%&rﬂx 4 473 (‘i?:
09p =5 & 100 SE{ 4 i
BRI HRTEEL L FEFFIT 4203 - T2k & O o TAALHB R LCI(D) @8F - B R (E) Y S
= |+ ERL ERLLEE L HF (R[50 0 € kD2 B HRE $ ] 0105$&&miﬁ% LHRFEY |OF = kG 1Tpa AP AL~ F-  F - FIERRG
12|13|14|15|16(17|18| 2 17p (14:20)8 & %i7 § R ERAL=E § EHh 168 (T30 BT 85 (14) « a1 3 |18p %7 kT
I P (FI2) (20T % %7 38 GF) ~ ek 160 (16:20)% ¥ 1 iv g 4 (73)
X r(E)z ¥
WG FHEFEIRIFEZ KT (04— F-FVDATFPEZ [OFF1 TRt 200 R=FHITER BB &t ok
-+ 24 (ﬁl 20) SR () B g Rty 7 i 3 (3) %ZEE?Z 3835%&&?(;5()6\)5‘%%#% 24916(305}3%%%@%# AR
" £ 4 i Yo B R (@A 1 TR B «% P £ ] m4 #(i73) 3
4 [19[20|21|2223|24/25 AR oy DO v Konl b SI8 B Wi i) 4o0s s § §
.,EL(S—FH':?J ﬁﬁ}'c}i“*
GAE RS 24 KA
AR %Lze;;;( 4@,@ Re(72) 30 A H% THIESES Ot LRI 2 <«};(4) O H 1 (T % 21p Frfrivt R a(r 72)
28-30p 4 ol figy 2 k(D 280 LE A FFFAIHE
28mmm»%%‘§uw% 28-30p # % %
, O[O0 0P REN S F B BT s— ~ = 30p RES ;\*z%m ¥
+126(27 1(2 %me?rz?rﬁws A+ 30-04p HiBILF 3 ; %.&1;7 A s
28129|30 Tk R € ( ) 01p % BH 4~ 04p LE Y G E
30-04p msustrmz% CAPL R
SV
OIB%&P"«&V\ AR

Fr(p )L AiiEp o2, O F&FP o3 AV SA#E 4 @ AREH b, X BZREEHEY 6. O AERBAAGFIF kT 2368 Org: 73(Fr @3l Rn4mI
AL i( I iRy 104 £ 57 19 p A %EF % 1040888385 53 T 104 # 6 7 16 p A4 & W F % 1041054122 55 837105 & %5 106 & 1% 21 p 2 10627 10p 27 11 E?‘ra“ifi(‘f FiEEREEHP), 2
112 R sﬂri*%:nfx(z P2 PRI H)27 150 (AY-)E 28 W REEP P o




